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How to use : gurobi ver.5.6, 6.0
K. Hotta

Y gurobi DV 1 : Python TEWEZ 7 4L (B : example.py) D FEFTEE
HIY]IRTA4 7 (A F¥ a2 A2 PND[semil 7 # /L & 1Z [example.pyl B ERIF S 41
TWAZ EHRHRICT 5. [semil 7 + V4 05E D AT A 2 TFEAT

v awr R Fur7 hEiEH) KAZ2—=MBEED, [T A NVAEREL
THELT) X M%) Tcemd [Enter] & §T - CHiHh
v Y:>cd semi [Enter] #[semil 7 + /L # ~KH) cd = change directory

> cd [NR] THRIH. 2SR SR - S
%>cd.. TOLEOTFNL (T4 L2 FY) ~BE)
Y:¥semi> gurobi [Enter] :¥gurobi % i) DA
v gurobi> execfile(“example.py”) *example.py & 51T OB

AN

O A, OBAE[TTHRDVIC, awr R 7 bbb EBEUT 2 - Th FITHE
v Y'¥semi> gurobi example.py [Enter]
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*gurobi DV 2 o< K 717 Femd) T LP-file (4] : examplelp) Z1{# 5

AN

AN N NN

AN

HIY]IRTA4 7 (A F¥a A2 MND[semil 7 # /L 12 [example.pyl B ERIF S 41
TWAZ L HRHEICT 5. [semil 7 4 V&4 05E 9 B AT F A 2 TEST

a<wy R7r 7 hEiLH) HAZ2—0bRE), [T A NVAERHREL
THELT) X M%) Tcemd [Enter] & §T - CHiHh
Y:> cd semi [Enter] #[semil 7 + /L # ~BH) cd = change directory

s¢>cd [3A] THIH. 7SAFFAR XA - o S A
%>cd.. TOLEOTFNL (T4 L2 FY) ~BE)
Y:¥semi> gurobi [Enter] :¥gurobi % i)
gurobi> m = read(“example.lp”) [Enter] *LP-file Z#tiAA, m ~UA
HmTET N EEWT D4 EITEZTH RV (model=read(...), mdl=read(...)72 &)
PIBED m 29 & Z A1L, 7T V4% model X° mdl 72 MO FHIERE LIZ5E
X, THLICEEHZTHES
gurobi> m [Enter]
gurobi> m.optimize() [Enter] K LEI R A BT 5
gurobi> m.ObjVal XhoEfE (HRBIEE) 2RRT 5
m.printAttr(X’)  SEEEAERR 1 (XKNIZ OB 12, KT X Pz EwT 5.
ZOFIETIE, BHROSHDLME (230 TRWE) OAEFRRT L. H130 DR
GO T OREfRE = Fam LT-WEATE, for X & getVarsOZFHA L, LLFD@EY
gurobi> for v in m.getVar() : [Enter]
gurobi>  print v.VarName + “:”, v.X SATHEDOA T v b (FF) %A

Z O, gurobi PN TIRICSLOMED

v

v
v
v

AN

gurobi> m.write(“out.lp”) [Enter] #¢LP-file Z# L 7 7 (/L (outlp) (ZH5
gurobi> m.write(“out.sol”) [Enter] »¢fifiE 252 AL ~7 7 A /L (out.sol) (ZHT]
gurobi> help() WAL T = T

gurobi> exit() [Enter] sgurobi & T4 5

MIP fi#73 infeasible 72 > 723556, FJ& L72Hl#0 &2 2200 F DX LU T 25 H

gurobi> m.computelIS() KREWIPE L2 #il#0 %2 o 2 3R B A
gurobi> m.write(“out.ils”) HKISODFEFR%E 7 7 4 /L (out.ls) (ZHIT

CZIWER L ED Z 2%, HEE [0 LWL oA 8k Al T
$k Bl THEET A2 L. E£72, Web BIZHEEA RIEWMBEN SN TVWDEDTEROZ &
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